= ([
N = 0l & AF & F Al A
01T E 20Iar 2BHS|H FOIMS XD ~ FOIME XD
SN FOIME XD
M ZOIMETRAMNEA BLHH 2S
Sl FHONE 25 (S5 &2)
_ _ HE T
SN-EHH S (3H) - HEAY - BES Off &F oA il i~ o Hnz2
ZOIM BRI 4,697,630 5,022,848 £325,218
= 484,007
= 126,366
= 181,053
Al 3,906,204
ZOMBTAAEIA BLHAH 75 733,047 719,553 18,494
= 228, 127
= 35,000
= 30, 130
Al 444,790
HotHs 28 94,687 113,587 18,900
= 35,000
= 13,920
Al 45,767
%t 25 12,120 14,520 A2,400
201 L2 1,500 1,500 0
01 At 1,500 1,500 0
OSHD AR 22 1,500
01 LB A 10,620 13,020 A2,400
01 AtSIRE= 4623 10,620 13,020 A2,400
O#AXIPS ZAH 7,008 * 304 » 128 2,520
O#oAR A0 20,0008 * 10F * 122 2,400
O#ANTE 0l 30,0008 * 10 « 42 1,200
O#A KPS T=H 50,0008 = 12 128 600
OAF X ZHI| 500,008 * 3% 1,500
OAFSR DA 500,008 * 3% 1,500
OAXt SHXIE 30,0002 * 37 * 10 900
eSH =¥ 3,500 3,000 500
307 QIO 3,500 3,000 500
10 ASIZ X 3,500 0 3,500
OR=H =23 3,500
CET BEAE 2YN 51,000 51,000 0
= 35,000
Al 16,000
01 YrBA2 1,000 1,000 0
01 AtSIRE= 2513 1,000 1,000 0
Ow%0l HE AL
500,008 * 23] * 1H£ 1,000
307 QI2H0|H 50,000 50,000 0
= 35,000
Al 15,000
NEEREES 50,000 0 50,000
OL%Xt 2504 29 50,000




S FUMEI D
HE: FOIMBRAAEA BYHH 2
Sl HAHS 25 (e @@
_ = FSRE =
SN FHH - CA(SA) - NRAY - BES Off &k OH 0 At of HmE2
£ 35,000
Al 15,000
HASE F42 N 13,067 18,667 A5,600
S 3,920
Al 9,147
307 QI2+tol 13,067 18,667 A5,600
< 3,920
Al 9,147
10 AEI=X2X 13,067 0 13,067
OMASS E42l XA (13MH) 13,087
= 3,920
Al 9,147
Mars 2el 5,000 13,000 /8,000
202 o4l 2,000 2,000 0
01 =ZUHoiHI 2,000 2,000 0
OMa7s LR 2,000
307 @I2tol 3.000 11,000 ~8,000
01 J2LP2H| 3,000 11,000 /8,000
OSLM Moty 2ASMAHH X
300,0008! * 107+ 3,000
AP MASE N 10,000 11,400 1,400
= 10,000
301 YerEAS 10,000 11,400 A1,400
= 10,000
01 ABIER=L52 10,000 11,400 A1,400
OX4M? HASE N 10,000
== 10,000
FUMSTAMEIA NHH S 34,260 28,510 5,750
FOUMSTAMHIAAR 2 23,000 23,000 0
201 LEreg| 5,000 6,500 A1,500
01 At22Z2lt| 5,000 6.500 A1,500
OFDMSTAAMHA E22 A
1,0008! * 3% * 1,0000H 3,000
OZFDIMEX2 M A ASHE I A
20,0008 * 100 2,000
202 01| 8,500 8,500 0
01 =LHoiHI 8,500 8,500 0
OFMEXAHA Y2 XX 8.500
203 Y2 EY| 8,000 8,000 0
03 AlBMZEAQRFEXY 8,000 8,000 0
ONASS MEOHHM 8,000
301 YerEaa 1,500 0 1,500




FH: F=QIMETA 0
. FUMEIJAANMEA BEHMAH RS
Sl FOIMETAAMYIA XA 2S5 (el &)
_ _ _ Muo
SN B SRA(SIH) - MBAY - BAS 01l & o4 e HlnE2
10 BALAHIEA S 1,500 0 1,500
OMEBARY Z20UHS 62 1,500
FaEN32 2L 22 11,260 5,510 5,750
201 B3| 3,060 5,510 A 2,450
02 =234l 3,060 5,510 A2,450
OAl&g= gX2eal 1,500
ORQUBHIAIAY DIet242
130,000& = 12& 1,560
401 AlEHIZ 2 8,200 0 8,200
01 Al&H| 8,200 0 8,200
OE SIS & S=ZAt 8,200
N2 SAL E4A 3 163,981 146,322 17,659
= 23,958
Al 140,023
N SAHEEH 23 X3 84,759 75,500 9,259
307 212t01& 84,759 75,500 9,259
10 AtaI=2XEx 84,759 0 84,759
OtHe TUHASAMEH 29 84,759
N SALX S4 7,306 11,096 A3,790
202 O4Hl 2,000 2,000 0
01 =Yl 2,000 2,000 0
ONEASAt 243t 2= 2,000
301 Yptsaag 5,306 9,096 23,790
10 EALAHIEA S 5,306 9,096 A3,790
ORAZA Th3l ZIIK 01t
75,8003 » 30 » 1 2,274
OXNEASALA 2tgsl & WEHHI
75,8003 * 209 * 2¢ 3,032
AESAE 2CUOIH K& 34,016 30,472 3,544
= 17,008
Al 17,008
307 S12t01& 34,016 30,472 3,544
= 17,008
Al 17,008
10 At2ISXEX 34,016 0 34,016
OXJASAH 2CIHIOIE XI& 34,016
= 17,008
Al 17,008
N SALX E8= K& 13,900 5,254 8,646
= 6,950
Al 6,950




SN ZE0IMET Dt
M ZOIMETRAMNEA B 2S
Sl HEZA 245 (e & 2
_ _ SIEN
SH BB O(B) - NRAY - BAR O AF il i~ o Hn=2
307 BI2HOIF 13,900 5,254 8,646
2 6.950
Al 6.950
NEEEES 13,900 0 3,900
ONBZAX 2EE N 13,900
2 6,950
Al 6.950
"2l HEZAAY 12,000 2,000 0
307 BI2HOIF 2,000 2,000 0
EEEES 12,000 0 2,000
OF 42l HEZBAAY 2,000
RHESAME A 2% X2 12,000 2,000 0
307 BI2HOIF 12,000 2,000 0
INEEEES 2,000 0 2,000
OXNBSAME A2 X2 2,000
UEY SHNUIA J|HRS 422,435 408,450 13,985
2 204, 169
= 16,210
Al 202,056
HASS S8OE XY 34,650 32,500 2,150
201 L2 7,650 7,500 150
01 AtR22lt] 7.650 7,500 150
OAZIEZIAL B8 HIR 150
OFMHIA BEol 222 N
10,0002 * 400% 4,000
OUSENAY SHOHHE M
1002 * 6,00004 600
Ohlways 3|25 22 1008 * 15,0005 1,500
Oslgylis AHQ 2= 702 * 20,0005 1,400
202 Ot 6.000 4,000 2,000
01 =2U0itl 6.000 4,000 2,000
OEIEL I FES-BTR-T-E 6,000
203 PREWY] 6.000 6.000 0
03 AlELREY| 6.000 6.000 0
OXES NHIASH XA £ 6.000
01 YerEa 15,000 15,000 0
01 ABIEE= 463 15,000 15,000 0
OAEISTIAHIA X9 15,000
ABIZXIE S 2 & 40,000 40,000 0
= 8.000
Al 32,000




IR E SN
ZOMBXANYA BLHH 2S
YES SHMHIA JIERE

_ _ _ N E
SN -HH - SA(B) - MRAY - BES Aol i aon HRE2
307 RI2HOIH 40,000 40,000 0
= 8,000
Al 32,000
10 AtI=SXIE X 40,000 0 40,000
OAMzl=EXgoe 23 40,000
& 8,000
Al 32,000
NEWLEPG-"Eh =L 54,410 54,410 0
201 LetIH| 4,410 4,410 0
01 AtSR22/Hl 4,410 4,410 0
OXHAEI =X EoIH EA+Y
70,000& » 21" * 33| 4,410
307 RI2HOIA 50,000 50,000 0
10 AtISXIE X 50,000 0 50,000
OXIABI=Z TN 2 50,000
NENWLEPEEP P EE 3,192 3,164 28
301 EtEA = 3,192 3,164 28
10 EAAHIBAS 3,192 3,164 28
OQIBETE 50/ EA 1,120
OXI=T 3lofa A 672
OMBIAQIHIIR BA &0 1,400
A2=N KA 15,412 80,000 35,412
= 92,330
= 4,616
A 18,466
301 EtE2A = 115,412 80,000 35,412
= 92,330
& 4,616
Al 18,466
01 AISIEEE =53 115,412 80,000 35,412
O2da=EX XNEAAMS 115,412
= 92,330
= 4,616
Al 18,466
KNAASIAEIA EXAS 89,845 123,998 234,153
= 71,876
= 3,594
Al 14,375
307 GI2+0I A 89,845 123,998 A34,153
= 71,876
= 3,594
Al 14,375
05 CIZtRAE = 89,845 123,998 A34,153
Out=20ts Hoa E€ AN 44,922




SN EOIMB D
M ZOIMETAMNEA BLHH 2E
Sl XEY SEAHIA JIBRE (el &2
_ _ _ Muo
SH-EH . C(BH) - NRAY - BES O AF o8 il b o bRz
= 35,938
= 1,797
Al 7,187
O0S XS FAAL 44,923
2 35,938
= 1,797
Al 7,188
K ASI = XITH3] X & 5,000 5,000 0
201 L2y 5,000 5,000 0
03 A2 Y] 5,000 5,000 0
020118 X AISI = XICHE (2 23]) X2 5,000
0144 OHE = &l 71,460 69,378 2,082
2 35,730
Al 35,730
101 @121t 71,460 69,378 2,082
2 35,730
Al 35,730
04 JIVH22HS L4 71,460 69,378 2,082
ONZISXSSAHUATSR 0121H|(32)) 71,460
2 35,730
Al 35,730
AR Z2IAY 2 | 8,466 0 8,466
2 4,233
Al 4,233
201 LByl 8,466 0 8,466
2 4,233
Al 4,233
01 AR 2IH] 8,466 0 8,466
OAZEING 2 8,466
2 4,233
Al 4,233
ZNYR Hes 22,684 22,684 0
SXNHAT 22 SBIM 20,684 20,684 0
201 YEr2 Y| 9,684 9,684 0
01 AR 2IYl 6,000 6,000 0
OSBEANHIA E22 M
2,0002 * 1,009 * 25 4,000
ONYXE 228 sY7Y
2,0008 * 1,00004 2,000
2 222 3,684 3,684 0
OSEEANTY 2R 600,0002! * 1] 600
OSBIANIZ THSIA 84,0002 * 13] 84
OSEEZAXY KB 250,000% * 122 3,000
202 04t 6,000 6,000 0




oF
R’
oF
uJ

wﬂ
o0 of
K K ol
ol o O

20 20 3D

e

n0

KIo

Bl w

29,150

29,150

A 1,400
A 1,400
A 1,400

LH3r
m<l
Rk

6,000
5,000
5,000
2,000
2,000
2,000
134,000

134,000

11,000
3,000
3,000

2,000
2,000

6,000
6,000

12,500
3,700
700
3,000
2,600
2,600

=
o

s

<J

6,000
4,000
2,000
5,000
5,000
5,000
2,000
2,000
2,000

800
1,200

163, 150

100
163,050
163,150

iy

Al

100

163,050
11,000

iy

3,000
3,000
3,000

Al

2,000
2,000
2,000

6,000
6,000
6,000

11,100
3,700
700
700
3,000
3,000
1,200
1,200
700
500

3

2l x4

2« 128

=
e

[=]

o
[und

100,000

10,0003 * 5007t
200,000

o
=

o
=

Chab=

AN

=LH0dbl
01 At2IEE A =4

01

KD

H0

30
OB
Mo
Mo

il

Ok

Uil
W

oH

=L0dbl

01

202 O

KJ
K

oF
3D
0L

4+ 308+ 43

=
=

50,000

1[3]
ok

Mo

O=Jtw

2|

X+
&
=

100,000& * 1= = 70H

ot X

2= M

ct
=
=t
(=]

9

2l
2

b

01 At

or

oD
K0

0
oll
o
)

6,200

6,200

307 Q12t0lH




S FOIMERR D
Hu: 288 L A
Sl BHRBR BNSE (e
_ _ SIEN
SAN-ZH-SA(FA) - NFAY - BES Off &F oK Ofl At ot HwsZ
10 AEl=XEZ 6,200 0 6,200
OBEY A RIS L N B4 N
7,00020 * 600% 4,200
OHEY A RS 2,000
SYRTX RE 2H N 500 1,000 A500
= 100
Al 400
307 2120l H 500 1,000 A500
= 100
Al 400
10 AHEl=XEZ 500 0 500
OSYREBT REF 224 N 500
= 100
Al 400
AHQBT X 140,550 109,500 31,050
301 YLrEAS 140,550 109,500 31,050
01 A B X253 140,550 109,500 31,050
OBH|ZN Fol+g
30,0002 * 380% * 122 136,800
OBESBA MY P22 150,008 * 25% 3,750
HASE D8EY 25 856,800 440,565 416,235
=2 255,000
= 91,366
= 108,450
Al 401,984
A19i0H 24245 856,800 440,565 416,235
= 255,000
2 91,366
= 108,450
Al 401,984
2222 A 320,000 353,755 33,755
= 91,366
= 18,750
Al 209,884
101 Q1248 320,000 353,755 33,755
= 91,366
= 18,750
Al 209,884
04 JARZRIISES 320,000 353,755 33,755
OBT22AHE(1208) 320,000
= 91,366
= 18,750
Al 209,884
NEEPCEIPNE= 510,000 0 510,000
=2 255,000
= 76,500




SN FE0IMEX D
HE: JASE DSAMY 7S
el AlQIHA

2N -3 (AH) - HIRAIY - BHE

R
:
0x
I
=
[
2
2
R
12
o
£l
0l%
N

Al 178,500

101 Q1A 306,000 0 306,000
153,000
45,900
107,100

= HnH

04 JIZHMIZE2XNSE = 306,000 0 306,000
OXSLTtel At 306,000

153,000
45,900
107,100

= HnH

201 LEH2HH| 3,650 0 3,650
1,825

548
1,277

= HnH

01 AtR2teld] 3,650 0 3,650
OXGdXelAtS AtR2tel 3,650

1,825
548
1,277

= H W

202 O 4,000 0 4,000
2,000

600
1,400

= H W

01 =LHOYI 4,000 0 4,000
OXNSgXelmg R 4,000
2,000
600
1,400

= N W

206 M= dl 196,350 0 196,350
98,175
29,452
68,723

= N W

01 M=Hl 196,350 0 196,350
OXNgdXtelAd e 7 196,350

98,175
29,452
68,723

=N W

RS LR eIALS (& 48) 26,800 0 26,800
13,200
13,600

= H

101 el 24| 17,000 0 17,000

3,400
13,600

=

04 JIZtHZ2NSE=> 17,000 0 17,000
A 24 17,000

3,400
13,600

= H




SN FE0IMEX D
Hu: HASE DAY 7=
g X

Cro: AlQICHE 2 5 (el &2
- _ _ ME
SN -FH . SA(BA) - HPAY - BES Ofl &F o8 il ot o HDZ2
307 QI2+0|H 9,800 0 9,800
[ 9,800
02 PIABNEX 9,800 0 9,800
OFAJ|Y HEHIEHA 29 9,800
= 9,800
OIHKIBS DSIIE PE 2,804,219 3,569,025 764,806
= 40,925
Al 2,763,294
SETHS A 2,804,219 3,569,025 AT64,806
[ 40,925
Al 2,763,294
nEHMH 2,462,369 3,309,025 846,656
201 Lered| 5,200 4,200 1,000
01 At2 22| 5,200 4,200 1,000
OWNS|ZY Aofgs HAsg
70,0008 * 152 » 43 4,200
OMMIE WSX2H E22 M
0¥l * 12,5000H * 13 1,000
202 01| 3,000 3,000 0
01 =2UHoib 3,000 3,000 0
Os0lE SEME 23 Y2 3,000
301 YprEaa 251,562 179,250 72,312
02 Hst2YsA2 251,562 179,250 72,312
OMMIHHAOI A DS K HH(ESEHM)
420,84091 * 286 * 60% 72,217
OMMXAOIA DX (Z8H4)
355,0008 * 1682 * 60% 35,784
OMMXAOIA DX (DSEHM)
1,584,55080 * 1512 * 60% 143,561
307 QI2+0IH 27,600 27,600 0
05 QIZteIEt3 27,600 27,600 0
OXS AMOIHHAZ 22l 2,300,0008 * 128 27,600
308 XXIEHHSOIA 2,175,007 3,094,975 919,968
05 RHXICHHIZtR &2 125,007 249,975 124,968
O|0I2 HOIDAF K& 23(9Y) 101,007
OZAN 2A2 sty 2443 (2Y) 24,000
06 WSIIZOHEEEXS 2,050,000 2,845,000 795,000
Ostl WSEY WA N 1,600,000
OFst 9sts WK 50,000
OE®IIHSYDSS W JIsA YA 400,000
B AIQ! SFERSIE =O 260,000 260,000 0
306 =012 260,000 260,000 0
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S EOIMETIR D
M AZ 9N B
Sl AIZ - BE Qa2 (9l & 2
. _ o HEG =
SA BB H(BH) - MBAY - B2 O A+ 24 il b o HRs2
301 YerEA3 24,230 24,230 0
12 JIEtE A2 24,230 24,230 0
ORY U ol 252 20
20,0008 * 654 * 128 15,600
02 ¥ oiXelgs AYI| 25
8502 * 100H * 6502 * 122 6,630
OD#els EXB &X  100,0002 * 10JH4 1,000
OMSM4 AZAL HOZF AMEX
20,0002 * 50K 1,000
MZorE e 17,156 20,236 A3,080
= 880
Al 16,276
101 24| 1,760 0 1,760
= 880
Al 830
04 JARZRISES 1,760 0 1,760
OAHIXIAIZRIM 2AIR 2121 1,760
= 880
Al 880
201 Yer2g| 1,500 1,500 0
01 Attt 1,500 1,500 0
OAMZomBel E22 KA 3,502 * 2000H 700
OAE, ZESIMAL SAAAIZS 01
4,00020 * 20004 800
202 01t 6,196 6,196 0
01 =UH 01l 6,19 6,19 0
OBZ - AESN Y2EX 2,39
OAMAL CEHS 3,800
206 M=l 1,400 1,400 0
NIET 1,400 1,400 0
onlME 2H09E 2
7,0002 * 10000 * 2% 1,400
301 YBrEAS 6,300 11,140 A4,840
10 BAAHIE A2 4,000 8,840 A4,840
OAHIKIAERIMZAY B
40,0008 * 10% * 10 4,000
12 JIE2 A 2,300 2,300 0
OAMELN LM 24
10,0008 * 1521 * 123] 1,800
OSHSYME ADEAS 100,008 * 52 500
ME QUEY 7,240 0 7,240
= 1,448
Al 5,792
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